& Paclasalai’s

weoo lelegram Groups!

( smeolIB@ H6p 2 eiten eIBens Hefld CFUIH Gupaled Rewewruiad! )

e Padasalai's NEWS - Group
https://t.me/joinchat/NIfCqVRBNj9hhV4wu6 NgA

e Padasalai's Channel - Group
https://t.me/padasalaichannel

e Lesson Plan - Group
https://t.me/joinchat/NIfCqVWwo5iL-21gpzrXLw

e 12th Standard - Group
https://t.me/Padasalai 12th

e 11th Standard - Group
https://t.me/Padasalai 11th

e 10th Standard - Group
https://t.me/Padasalai 10th

e 9th Standard - Group
https://t.me/Padasalai 9th

e 6th to 8th Standard - Group
https://t.me/Padasalai 6to8

e 1stto 5th Standard - Group
https://t.me/Padasalai 1to5

e TET -Group
https://t.me/Padasalai TET

e PGTRB - Group
https://t.me/Padasalai PGTRB

e TNPSC - Group
https://t.me/Padasalai TNPSC



https://t.me/joinchat/NIfCqVRBNj9hhV4wu6_NqA
https://t.me/padasalaichannel
https://t.me/joinchat/NIfCqVWwo5iL-21gpzrXLw
https://t.me/Padasalai_12th
https://t.me/Padasalai_11th
https://t.me/Padasalai_10th
https://t.me/Padasalai_9th
https://t.me/Padasalai_6to8
https://t.me/Padasalai_1to5
https://t.me/Padasalai_TET
https://t.me/Padasalai_PGTRB
https://t.me/Padasalai_TNPSC

www.Padasalai.Net www.TrbTnpsc.com

M.VENKATESAN. M.A,M.PHIL.,B.ED., PG ASST (HISTORY ) GHSS AYAPPAKKAM,

LESSON -9

1. Give an account of the conditions of the Indian economy at the time of
independence.

¢ The level of poverty was very high.
+« many skilled artisans had lost their livelihood.
+« The per capita income from agriculture was very low.

2. What were the immediate tasks before the new government headed by
Jawaharlal Nehru?

¢ Developing the economy. Improving conditions in agriculture.
+ Widening the manufacturing sector.
¢ Increasing employment and reducing poverty.

3. What do you understand by the Socialistic Pattern of Society?

+« The reduction of inequalities. Elimination of exploitation.

¢ Prevention of concentration of wealth.

« All citizens would have an equal opportunity to education and
employment.

4. Point out the two important considerations that determined the setting
up of public sector enterprises in the wake of India’s independence.
¢ 1.The ideclogicai ievel. 2. The practica! level
« Inidcological level, To establish greater control over the economy in
the develcp ment of a socialistic pattern .
s In practical level, The Goverriment acczpts responsibility for creating
heavy industriec.

5. Write about the Bhoodan movement.

+ Bhoodan movement was started by VinobaBhave.

+« Its aimwas persuade large landowners to surrender their surplus
land voluntarily.

+ VinobaBhave 's Efforts attracted much public attention.

LESSON -10
1. How did Erasmus pave the way for Reformation?
+ Erasmus was a protester of many Church practices and teachings.

+» His well known work, The Praise of Folly .
+ He made fun of theologians and monks.

2. Write about the Medici family in Florence.
% A powerful merchant family in florence called Medici.
+ Cosimo de Medici who was engage in banking with many branches
across Italy.
+« The Medici family patronised many artists.
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3. What do you know of the Papal Bull of 1493?
+» The proclamation drew a north-south line from pole to pole, passing
around 320 miles west of the Cape Verde islands.
+» It declared that any new discoveries west of the line belonged to
Spain.
+« Portugal was not happy with the arrangement.
4. What was the significant outcome of Spanish Armeda?
+ King Philip Il of Spain sent an armada to invade England.
+ However, the English easily destroyed the Spanish Armada.
+« This marked the rise of the British as an important power in modern
world.
5. Point out the outcome of Diet of Wormes.
+ The peace talks with Luther and pope failed.
¢ Luther's books banned and burnt.
+¢ luther was declared outlaw by the emperor.
6. What purpose did the Star Chamber serve and why was it called so ?
¢ Henry VII decided to remove the threat of the nobles to his rule.
+ So he created a special court in the Star Chamber to put the
rebellious nobles on trial.
¢ In this court palace ceiling were stars painted. so it was called star
chamber.
7. Why did feudalism fai! in the later stage of the Middle Ages?
s The nlague that struck: Europe in medigval time weakened the
robility.
s As thousands of peasants died, the nobility lost their work forcz and
their taxes too.
+» Nobles died in large numbers during the course of Crusades.
8. Explain Holy Communion or Eucharist.

« It’s a religious ceremony performed in church by Catholics.

¢ Catholic Christians partake of Holy Communion in remembrance of
the sacrifices made by Jesus.

« They accept bread and wine which are believed to symbolise the

body and blood of Jesus Christ.
9. What did the Inquisition do in Spain?

+« This Inquisition was set up to deal with the Protestants.

> This Inquisition To give punishment to the heretics.

+» They used many methods to make the heretics confess, which ranged
from flogging to burning at the stake.

10. Why was the conflict between families of York and Lancastrian called
War of Roses? How did the war come to an end?
«+ They wore badges of white rose and red rose respectively, hence the
name
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¢ In this civil war, Henry Tudor emerged victorious and he started a
new line of monarchy in England.
+ He entered into matrimonial alliance with Elizabeth of York family.

11. Highlight the work of the Council of Trent.
¢ The Council of Trent emphasised faith in the Bible.

+» The celibacy of the priests and the supremacy of the Pope were
upheld.
¢ It supported the image worship of Jesus and Mary in all churches.

12. Why is Joan of Arc remembered in history?

+ In Hundred Years war, the French king Charles VII was helped by
Joan of Arc.

+ She fought courageously and won the battle at Orleans.

+ Joan of Arc got the title Maid of Orleans.

LESSON - 11

1. What impact did the European settlement in North America make on the
indigenous population?
+¢ The island’s indigenous population, forced to mine for gold.
+» They was devastated by European diseases and brural working
condituiens.
% By the end of the sixteanth century it had virtuzlly vanished.

2. What do you know about the Bosfton Tea Party?

¢ Following the Boston Massacre, about100 acuvists dressed iike
Native Americans.

+ They boarded the three ships carrying tea and threw 342 boxes into
sea at Boston.

+« This incident came to be called the Boston Tea Party.

3. What was the intellectual contribution of Thomas Paine to the American
Revolution?

+» Thomas Paine, wrote the pamphlet titled Common Sense (1776).

+ In this pamphlet Paine sought to provide arguments to justify the
demands of the colonists.

+ The pamphlet had an astounding impact of people.

4. Point out the importance of the battle of Saratoga.

+ At the Battle of Saratoga, the British General Burgoyne was forced to
surrender.

¢ Finally, the British forces surrendered to the American forces at
York Town.

+« With this victory the northern colonies became free.
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5. Discuss the three Estates of the ancien regime.

¢ Clergy, Nobility , and the commoners.
¢ The clergy and the nobility were exempted from various taxes.
¢ only the third estate bore the brunt of taxation.

6. Highlight the essence of The Declaration of the Rights of Man and of the
Citizen.

¢ It defined individual and collective rights.
¢ It also insisted that taxation could only be raised by common consent.
¢ which declares that, ‘Men are born and remain free and equal in
rights’.
7. Outline the contribution of Simon Bolivar to Latin American
independence.

+» Bolivar emerged as a strong military and political force after the
struggles.

«» After leading his army up the face of the eastern Andes.

¢ Bolivar defeat to his enemies in the Battle of Boyaca.

8. Highlight the essential features of Industrial Revolution.

L)

0

>

% Thne use of new sources of energy or fuels such as coell, steam, and
iren.
«» The invention of new machines that increased nroduction.
s Developmants in transport and comimuriication
C. Why is Sarmuel Slater considered the father of American !ndustrial
Revolution?
+» He, used the first water-powered roller spinning textile mill in the
Americas.
+» Slater's mill was duplicated by many other entrepreneurs.
¢ So the U.S. President hailed him as ""Father of the American
Industrial Revolution.™

10. What was the background for the Peterloo Massacre?

+ In England, industrial depression and high food prices.

+ So a great demonstration was organised by the radical leader Henry
Hunt.

« The magistrates, who were alarmed by the size and mood of the
crowd, ordered the cavalry corps to attack the crowd.

LESSON - 12

1. Write about the six-point People’s Charter of 1838.
¢ Universal suffrage.
+ Voting by ballot, to prevent intimidation.
¢+ No property qualification for candidates.
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«» Payment of members elected to the House of Commons,

» Equal electoral districts and equal representation.
L)

% Annual parliaments.
2. What do you know about the Manifesto of Sixty?

+ The manifesto declared that the French Revolution of 1789 only
brought about political equality.

+ It's also declared that it did not have economic equality.

« They wanted to represent the working class.

3. Why is the period between June 24 and 26, 1848 considered the bloody
June days?
+ The workers dared to oppose the government to shut down the shops
created by the efforts of Louis Banc.
¢ 50, between June 24 and 26, thousands of people were killed in
france.
+» Eleven thousand revolutionaries were imprisoned or deported.

4. What role did Concert of Europe play in Metternich Era?

+» It worked for the preservation of European order and balance of
power.

% They intervened in the case of countries threatened by internal
rebellion.

/

« They Imnosed their overall decision on the affected countries.
S. Why was Italy described as *“a mere geographical expression” by
Metteriich?
+« Italy was divided into gight states hy the Vienna Corgress.
« Northern italy was handed over [0 the Germari-speaking Austrians.
¢ Italy in the nineteenth century was a ‘patchwork of about a dozen
large states and a number of smaller ones.
¢ S0’ Metternich described Italy as “a mere geographical expression.”
6. Explain Poor Laws.

+ In Britain the Poor Laws, as codified during Elizabethan period.

+« This act provided a relief for the aged, sick, and poor infants.

++ This act also provided a relief for the capable unemployed in
workhouses.

7. Attempt an account of the first International Working Men’s Association
of 1864.

It purpose was to form an international working class alliance.
s It worked hard to exclude the moderates from the International.
¢ It also denounced other socialists such as Ferdinand Lassalle and
Bakunin.
8. Highlight the contribution of Carbonari to the unification of Italy.
% The Carbonari, advocating liberal and patriotic ideas.
% They kept alive the ideas of liberalism and nationalism.

L)

L)
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+ As a result Revolts broke out in Naples, Piedmont and Lombardy.
9. Who was Francois Babeuf?

¢ Francois Babeuf, a political agitator of the French Revolutionary
period.
+» He said, the Revolution in France did not address the needs of the
peasants and workers.
+ He advocated the abolition of private property and the generalisation
of the land.
10. What was the importance of Zollverein?

¢ Prussia was successful in establishing the Zollverein (customs union).

+» It included most of the Germanic states except those under the
control of Austria.

¢ It also provided economic unity to the Germanic states.

11. What do you know of the Gilded Age?

+ The Gilded age was also an era of intense mass mobilisation of
working classes.

+ Socialist and labour movements emerged in many countries as a
mass phenomenon.

« The expansion of industrialisation resulted in wage growth.

iZ. What is the importance of the year 1873 in the econcmic history of
America?

¢ The giobal economic Depiession occuried in 1&73.

< This eccniornic Depression aiso affected the United States very
seriously.

« American railroads became bankrupt in this peric

LESSON - 13
1. Explain the concept of Imperialism as defined by John A. Hobson.

+« Imperialism is the endeavour of the great controllers of industry to
broaden the channel.

« They try to bring in the use of locally unsold goods and unmarketing
capital.

+» Foreign markets and foreign funds will be used for this purpose.

2. Why did Germany want to isolate France?

+» The France wanted to recover Alsace and Lorraine which it lost in
the Franco-Prussian War.

+» Bismarck expected France to take revenge for this.

+» So he was determined to isolate France.
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3. What was the significance of Entente Cordiale signed between Britain

and France in 19047

+» Morocco and Egypt related Quarrels were solved.
+» France allowed to operate independently in Morocco.
¢ France agreed to recognize the British occupation of Egypt.

4. Highlight the outcome of the Balkan crisis.
+ The Bulgarians felt injured and awaited an opportunity to take

revenge on Serbia.
The passions of the Serbians were inflamed by victory.

Anti-Austrian struggle in Serbia and Bosnia became ever more
militant.
5. What was “Triple Intervention”?

*» According to the Treaty of Shimonoseki signed at the end, Japan got

Liaotung peninsula along with some regions.
«» The European powers feared the sudden growth of Japans.
¢ So, France, England and Russia forced Japan to surrender the
Liaotung peninsula to china.
6. Write about the role played by Von Hindenburg in the Eastern Front of
the Iivst World War.
¢ The Russian forces tenetraied far inic the Eastern Prussia.
s Russian troops confronted the German gericral von Hinteinderg.
< in the batt account
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le cf Tannenberg Russia sutiered heavy lesses on ace
of the decisive role played by Von Hindenburg.
7. Point out ine importance of Baitle ot Juiiand.
+ A historical war took place at sea in Jutland peninsula, Denmark.

% The battle was inconclusive.
+ The Battle of Jutland is remembered as the largest naval battle of the

First World War.

8. What is Nihilism?
+ Nihilism represented a revolt against the established social order.
¢ It rejected all authority exercised by the state, church and by the

family.
+« It based its belief only on scientific truth.

9. How did the League of Nations resolve the dispute between Greece and

Bulgaria in 19257
s In 1925, Greece invaded Bulgaria.

% The League ordered a ceasefire.
s After investigation it decided that Greece was to pay reparations.
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10. How did the Lateran Treaty help Mussolini in legitimising his
authority?

+ Mussolini won over the Roman Catholic Church by recognising the
Vatican City as an independent state.

+* In return the Church recognised the Kingdom of Italy.

+ The Roman Catholic faith was made the religion of Italy.

11. What was the Third Reich?

¢ The Nazi state of Hitler, known as the Third Reich.
» It brought an end to the parliamentary democracy .
« As a result Germany was converted into a highly centralised state.

12. What were the two underground movements which thrived in Germany
after the French occupation of Ruhr?

¢ In Berlin under Ludendorff, who had organised the former soldiers
against the Republican government.

+ There was another in Munich, a former corporal.

+ He was Adolf Hitler, the leader of the National Socialist German
Workers’ Party.

L)

D)
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LESSON - 14
1. Bring out the importance of Kellogg-Briand Pact.
s The Kellogg—Briand Pact was signed in the vear of 1928.
s Thoughn the US diid not become a member of the i_eague of Nations, it
participaied in this meet.
+« The outcorre of this pact.\vas the pledga of all nations of th2 werld to
renourice War.

2. Why did Germany withdraw from the League of Nations in 19337
+« In Disarmament Conference, The issue was the German rearmament
plan on a par with France.
+» The French refused to agree to this proposal.
+ As a result, Germany withdrew from the League of Nations.

3. What was the background for the formation of Rome-Berlin Axis?
+¢ Britain and France condemned Mussolini’s invasion of Ethiopia.
¢+ This helped Hitler to establish close relationship with Italy.
¢ This was the beginning of Rome—Berlin Axis.

4. What was the essence of the Munich agreement?
+ In the Munich conference, the premiers of Britain, France, Germany
and Italy joined the meeting.
+ The German army should occupy the Sudetenland, as demanded by
Hitler.
¢ Parts of Czechoslovakia should go to Poland and Hungary.
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5. What do you know ofDunkirk Evacuation?
¢ During the Second World War, French troops were driven to the
shores of the Dunkirk coast.
» From there, they were forced to leave the boats and the small ships.
» The French soldiers evacuated from Dunkirk formed the nucleus of
the Free French army.
6. Highlight the importance of Japan’s attack on Pearl Harbour.
+ United States declared war on Japan.
+ Thus making it an absolute second world war.
++ Britain and China joined the US.
7. Enumerate the essential principles of Atlantic Charter.
¢ No territorial changes without the consent of the people concerned.
» Freedom to travel across the sea without hindrance.
+« Disarmament of all nations that threaten aggression.

8. Examine the importance of the Treaty of Nanking.
s The treaty of Nanking signed at the end of first Opium War.
» This treaty opened the doors to Britain.
+ China ceded Hong Kong and paid an indemnity.
9. Write about the Boedi Oetomo and point out the reason for its failure.
s The first organisation that expressed clear nationalism in the East
indies was BoediOetomo.
It turned out to be a culturai cody, consisting imainly of civil servants
and students from Java.
<+ Boedi Qetomo coon hecame dafunct and a rnore popular political
society Sarekat Islarn emerged.
10. Explain the imrnediate outcome of American rule establiched in the
Philippines in 1902.
% The primary colonial institutions were firmly established.
+« The system of civil services and judiciary was established on the basis
of English education.
+ The municipal and provincial governments were established through
the elections.
11. Discuss the developments that followed Dutch-Indonesian Agreement.
+« Dutch recognised Java and Sumatra as independent republican
states.
¢ Other islands were united and thus the Indonesian United States was
formed.
+» Subsequently, the Dutch attempted to twice to disrupt peace in
Indonesia.
12. Assess the significance of the Cavite uprising.
+ In Philippines, Cavite uprising , was crushed served to promote the
nationalist cause.
% A number of Filipino intellectuals were arrested.
s After a brief trial, three priests were publicly executed.

>

D)

(AR

D)

L)

(AR

)

CAR)

D)

L)

0

*



www.Padasalai.Net www.TrbTnpsc.com

M.VENKATESAN. M.A,M.PHIL..B.ED., PG ASST ( HISTORY ) GHSS AYAPPAKKAM,
LESSON - 15

1. Identify the espionage agencies of USA and USSR.

¢ In the United States the Central Intelligence Agency (CIA) was
established in 1947,
+* The Sovit Union’s KGB, or C N S was formed in 1954.
2. Explain the concept of containment of communism.

+ The US wanted to control communism by restoring the economies of
the European countries ravaged by the war.
¢ For this, the US put forward the Truman Doctrine and the Marshall
Plan.
« And 1948 the European Economic Cooperation Agency was formed.
3. Point out the significance of the “Uniting for Peace” resolution passed by
the UN General Assembly.
% The General Assembly took initiative in US to pass the ‘Uniting for
Peace’ resolution.
¢ If the Security Council could not reach an agreement in a crisis, the
General Assembly may make a recommendation to use the military.
* USSR regarded this resolution as illegal.
4. What do you know about Cominform?
+» USSR set up The Cominform in 1947.
¢ This was an organisztion in wiich aii European communist parties
were irepresented.
« It discouiaged trade contact etween the nor-communist ceuiitr es.
£. Provide examiples of Surrogate Wars in the cold war era.

« The Korean War and the Vietnam Wars were classic examples of
the Cold War period.
+* In both cases Soviet Union supported the communist government in
North Korea and in North Vietnam.
+ The United States supported South Korea and South Vietnam.
6. What was the background to the Hungarian Crisis?

+ The Russians agreed to Nagy becoming premier again in Hungary .
+ He started introducing a multiparty system and set up a coalition
government.
« Enraged by the development, Soviet Russia sent its army into
Hungary and crushed the rebellion
7. What was Schuman Plan?

% Robert Schuman, the French foreign minister, realised that a
reconciliation between France and Germany was good for both.

¢ He proposed the joint production of two countries ' coal and steel to
be administered by the High Authority.

¢ This plan for sectoral economic integration created mutual interests
and automatically linked the two countries.
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8. Outline the concept of Perestroika.

+ Gorbachev announced the Perestroika at the communist Partys
Congress in Soviet Russia.

¢ Perestroika describes the necessity of a political and economic
re-structuring.

++ By Perestroika Gorbachev loosened centralised control of many
Institutions.

3 - MARKS LESSON -9

1. What are the main objectives of the Tenancy reforms?

+» To regulate the rent.

¢ To secure the rights of the tenant.

«» Expropriating the land of the land owners.
«+ To confer ownership rights on the tenants.

2. What was the outcome of Green Revolution in India?

+ India achieved self-sufficiency in food production.

+» Productivity also incieased.

*+ The government stored large quanitity of food grains recieving from
tne farmers.

< To ensure food security for the geople.

2. Describe the Integrated Rurai Developmerit Programme introduced by
the Union Governiment in the 1980s.

+« The purpose was to provide rural households with assets which
would improve their economic position.

+» In this plan, Govt supply of cows or goats for dairying.

¢ This plan also help to set up small shops or other trade-related
businesses.

+ The subsidy varied according to the economic situation of the family
receiving assistance.

4. What were the reasons for agricultural backwardness in India?

+» The backwardness of agriculture could be attributed to two factors:
institutional and technological.

+» Institutional factors refer to the social and economic relations
between the land-owners and the cultivators.

% Technological factors relate to did not use of better seeds, use of
chemical fertilizers, use of machinery.
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5. What were the factors which contributed to the poor performance of the
public sector enterprises?

+» Delays in construction resulted in cost overrun.

+« Administrative prices were not always under control.

¢ Public sector units were also overstaffed.

+«+ The cost of operating companies increased by many workers.

LESSON - 10

1. Why did Italy become the birthplace of Renaissance?

+ Italians preserved the belief that they were descendants of the ancient
Romans.

+ They looked back upon their ancestry with pride.

+» Italy had a more secular culture than most other parts of Latin
Christendom.

«» They learnt to write Latin as the ancient Romans did.

2. Highlight the literary accomplishments of England during the
Renaissance.
+ The Elizabethan Age produced many scholars during the English
Renaissance.
< Notable among them were William Shakespeare, Christopher
Marlewe, and Fiaincis Bacorn.
s Christopher Marlowe wrcte,Dido, The Quecn ot Carthage, and
Tamburlaine the Great.
s Willlam Shakespeare wrote, the Othello, Hamlet, King Lear and Romeo
and Jutiet.

3. What were the achievements of Italian and English explorers?
+ John Cabot, an Italian explorer saw the Canada and made it an
English colony.
+ Giovanni da Verrazano, another Italian, explored the lands for the

French.

+ He annexed provinces for the French in eastern Canada.

« An English explorer named Henry Hudson wanted to find the
passage from North America to the Pacific Ocean.

4. Bring out the negative outcome of Commercial Revolution.
% The most negative result of the Commercial Revolution was the

revival of slavery.

%+ The Commercial Revolution developing mining and plantation
farming in the Spanish, Portuguese and English colonies.

¢ This led to the recruitment of slaves as unskilled labourers.
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¢ This slave trade that exported more than 11 million Africans to the

Americas.

5. Assess the part played by John Calvin in organising the Protestant
movement in Genoa.
¢ Calvin was a great organiser and for a while he controlled the city of
Geneva.
+» His book titled 'Institutes of the Christian Religion® in Latin contains
his core ideas.
¢ He strived hard to establish an organised society based on biblical
teachings.
¢+ Calvinism became popular even during his lifetime.

6. Discuss the contribution of Society of Jesus to the counter-reformation
movement in Europe.
+» It used education as a tool to teach the Catholic religion to the
masses.
+» They set up various educational institutions to promote the Catholic
religion.
+» Society of Jesus succeeded in producing efficient and faithful
followers of the Chuich.
¢ The Jesuits, helped in raising the standard of the Church in Europe.

7. Write absut ine voyage of Celumbus in 1492,

s On 3 August 1492 Colurmbus sailed from the harbour of Palos, with
three simall ships .

s After a voyage of two months, he came to a land which he believed to
be India.

+ But it was really a new continent, America.

s They were called Indians because, he believed that the land he had
discovered was India.

8. Describe the voyage of Portuguese sailor Pedro Cabral in India.

+ Cabral sailed to India, following the route of Vasco da Gama, and

reached Kozhikode.
» The zamorin ruler allowed Cabral to build a fort and carry on trade.
» He then left for Cochin , further south, where he was warmly

received.
¢ After establishing a port at Cannanore Cabral returned with six
shiploads of spices to Portugal.

*

L)

D)

L)

0



www.Padasalai.Net www.TrbTnpsc.com

M.VENKATESAN. M.A,M.PHIL..B.ED., PG ASST ( HISTORY ) GHSS AYAPPAKKAM,
LESSON - 11

1. Discuss the important provisions of the Treaty of Paris signed in 1783.

+¢ Britain recognised the freedom colonies and the formation of the
United States of America.
¢ France gained certain British territories in West Indies, India and
Africa.
¢ Spain obtained Florida from Great Britain
+ Holland and England maintained the status quo that prevailed before
the war.
2. Analyse the significance of American Revolution.
+ The concepts of democracy and republic became widespread.
+ The political and social changes were on the lines of democracy and
equality.
¢ Education gained prominence.
¢ The principle of federalism became widespread.
3. Long before the revolution of 1789, there was a revolution in the realm of
ideas. Explain.
¢ Intellectuals played a key role in preparing the soil for the outbreak
of the French Revolution.
% The writings of Voltaire and Rousseau acted as an irnpetus to the
re/olution.
s Montesquieu , argued for the division of power among the lzgislative,
executive and judiciary.
+ Rousseau , argued that the relationship betweer: the rulers and ruled
should Le beuna by a contiract.
4. What caused the “September Massacres”?
+» The French people believed that political prisoners in the jails were
planning to join a plot of the counter-revolutionaries.
+» So the mob descended on the prisons.
+« summarily executed those they believed to be royalists.
+ In all about 1,200 prisoners were killed in what came to be known as
the September Massacres.
5. Trace the circumstances in which Brazil became the first constitutional
monarchy in South America.

« When Napoleon invaded Portugal, the King of Portugal, Tom Jovo,
fled to his colony, Brazil.

¢ But later, his power was challenged in portugal.

% So he decided to go to Portugal leaving the colony of Brazil in the

hands of his son Dom Pedro.

In 1822, Brazil obtained independence from Portugal.

It became the only constitutional monarchy in South America.
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6. What happened in Germany during the second phase of Industrial
Revolution?

+» By the end of the nineteenth century Germany emerged as the most
industrialised country.

¢ It surpassed the home of the Industrial Revolution, Britain, and
proved to be a competitor of the United States.

+«» Daimler and Benz became the most popular brands of automobile in
Germany and the world.

« Germany made its mark in iron and steel industry.

LESSON - 12
1. When France sneezes, Europe catches a cold — Elucidate.

¢ Europe in the nineteenth century was influenced by the developments
in France.

+ Metternich was the one who sought to suppress the spirit of
democracy and nationalism that arose in Europe.

¢ He said, “When France sneezes, Europe catches a cold.”

¢ France sneezed not once, but thrice in 1789, 1830 and 1848, when
revolutions broke out in France.

2. “The Industrial Revolution was the basis for emerging the ideas of
Sgcialism” — Substantiate.

< The working classes were initially unorganised and therefore wholly
at the mercy of their employers.

s Soon they began to feel that witnout crganisation and unity, o
permanent improvement was possible.

s So they srrove to esiablish trade unicns.

¢ This trade unions, was a form of socialism which to attack the states
and the welfare of the workers.

3. Estimate the pioneering work done by Robert Owen in improving the
condition of workers in his factories.

¢ He did not employ children below the age of 10 in his industries.

+«» Later he criticised private property and profit.

+ He began to advocate the establishment of new cooperative
communities that would combine industrial and agricultural
production.

+ Owen had developed a theory of Utopian Socialism.

4. How did the 1830 July Revolution in France impact other parts of
Europe?

¢ In other parts of Europe there arose a number of risings.

+« The revolution was successful in the Netherlands, where Belgium was
separated to form an independent state.

+ The Greeks received the support of the great powers and attained
independence from the Turks.

¢ But the revolt of Poles against the Russian Tsar was suppressed.
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5. Enumerate the reasons for not Italy and Germany emerging as nation
states along with England and France.

¢ The Holy Roman Empire was an empire only in name.
« Germany contained three of four hundred separate States.
¢ It was their kings who saved these countries from feudal anarchy and
made them into nations.
+ Conditions suitable for the rise of Italy and Germany as nation states
developed only in the nineteenth century.
6. Trace the events that led to the formation of Paris Commune.
+« The Parisians grew bitter when bigger numbers of monarchists were
returned to the National Assembly.
¢+ Then came the betrayal of the republic — the appointment of 71-year-
old Thiers.
+» Paris was once again armed.
¢ As the regular army had been disbanded under the terms of
agreement with Prussia, the Parisian masses kept their arms.
7. Discuss the measures adopted by Paris Commune in the interests of the
poor and the working class.
+« Banning night work in bakeries.
+¢ If the factories or industries were shut down by the owners, it was
coened by the workers.
¢ Providing pensicns for widsws and free education for every child.
s Stopping the coliection of debts incurrec during the siege.

€. Aitempt an account of VWorking class struggles duiing the perica of
L.ong Depression in Britain and America.

¢ The strike in the Homestead Steel workshop in Britain went up in a
gun battle.

+ The Pullman strike by the US Railway Union was suppressed by the
administration.

¢ In Britain, the Match stick Girls Strike ended with their enormous
victory.

s+ There was also a dock strike in the port of London.

LESSON - 13

1. How did the first Moroccan crisis happen?

¢ Relying on their understanding with England (Entente Cordiale,
1904) the French decided to go ahead with their plan in Morocco.

« Early in 1905, a French mission arrived at Fez, a city in Morocco.

¢ French treating it as a part of French protectorate.

s Germany protested so French agreed to refer the dispute to a
European conference.
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2.

How was Trench Warfare fought?

¢ First World War compelled soldiers to burrow into the soil to obtain
shelter and survival.

+ The Trench system is the two to four trenches that go parallel to each
other.

¢ The trenches were dug in a zigzag manner.

+ So that no enemy, could fire for more than a few yards down its
length.

. What do you know of the fearsome U-boats and Q-ships?

+» During the First World War Germany's most fearsome weapon was
the submarine or U-Boat.

+ The Germans adopted a strategy to starve Britain by sinking every
ship it could.

s The Q-ships were Britain's answer to the Germany.

+¢ Britain provoked the attack on Germany through these ships and
then resorted to retaliation.

. Highlight the sequence of events after America’s entry into the War.

% America’s entry with its enormous resources made Allied victory a
foregone conclusion.

% The first to surrender was Bulgaria.

« The Turks opted foi" an armisiice.

s Germiany was now left witn the impassibie task of carrying on the
strugyle aione.

. Analyse the impact of Russian Revolution on the world outside Russia.

¢ The revolution fired people’s imagination across the world.

¢ In many countries, communist parties were formed.

+» Soviet Union encouraged the colonies to fight for their freedom and
gave all out support to them.

¢ Debates over key issues, land reforms, social welfare, workers’ rights,
gender equality started taking place in a global context.

Examine the causes and consequences of the 1905 Revolution in Russia.

Causes :

+» Nicholas encouraged Russian expansion in Manchuria, provoking a
war with Japan in 1904.

¢ The resulting Russian defeat led to strikes and riots.

¢+ Opposition to the Tsar grew.

Consequences

¢ Nicholas was forced to grant a constitution and establish a
parliament, the Duma.

% The left-wing parties that formed a soviet of workers’ delegates in St
Petersburg.
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7. Highlight the successful accomplishments of League of Nations.

+» A dispute arose between Sweden and Finland over the sovereignty of
the Aaland Islands.

¢ The League ruled that the islands should go to Finland.

+ The frontier between Poland and Germany in Upper Silesia, which
was successfully resolved.

+» Greece invaded Bulgaria, and the League ordered a ceasefire.

8. How did the impact of Great Depression reflect in politics?

+ In England, the Labour Party was defeated in the general elections of
1931.
¢ In USA, the Republican Party was rejected by the people in

successive elections for about twenty years after the Depression.
+ The Fascist Parties seized government in Italy and Germany.
« Argentina, Brazil and Chile saw a change of government.

LESSON - 14
1 Why was Hitler keen on capturing Stalingrad? Point out how his plan

turned out to be his “Waterloo”.

+» Hitler thought Stalingrad would be a prize catch, as it was a large
industrial city.

¢ He was also aiming for the rich oil ficlds of the Caucasus.

< Inadditicn, seizing the city that bare the name of the Soviet leadzar
Joseph Stalin would add furtherr glory tc thza image of Hitler.

It becarne clear that the German Army could rct iold Stalingraa.

+ Yet Hitler refused to allow a strategic withdrawal.

2 Allied bombing of Germany became a symbol of terror bombing
campaign. Elucidate.
¢ The Allied bombing of Germany almost completely destroyed the
German city of Dresden.
¢ The raids became a symbol of the “terror bombing” campaign
against Germany.
+¢+ During this period, 600,000 German citizens were Killed.
+» Slowly, the German army was forced back.
3 What were the ambitions of Japan as an imperial power?
+» The German approach was emulated in East Asia by Japan.
% It had already taken Taiwan and Korea as colonies, and controlled
Manchuria.
¢ It's began to cast its covetous eye over Dutch East Indies, the British
colonies in Malaya and Singapore.
% In this way the French colonies in Indochina and the US-controlled
Philippines.
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4 Bring out the significance of Huk Rebellion.
¢ The Philippine Communist peasants were called Huk.
+ Huk areas were bombarded bygovernment forces and, as a result, the
huk resorted to guerrilla warfare.
«» At first they adopted it as a defensive posture.
¢ The “Huk rebellion” had been crushed by the Philippine
government, assisted by the U.S.
5 Highlight the important results of the Second World War.
+ Germany ceased to be a great power.
¢ Europe lost its status and prestige.
+« The economy was in a shambles.
¢ It was clear that the two dominating powers in the world were the
United States and Soviet Russia.
¢ The most significant outcome of the War was the transformation that
had taken place in colonies.
6 Attempt an account of Boxer Rebellion in China.
+ The Boxers came from peasants, particularly from Shandong
province.
+« The original aim of the Boxers was the destruction of the Manchu
dynasty.
<+ And also destruction cf the Westerners who enjoyed a privileged
position in China.
s The Roxers burned churches and foreign residences.
7 Discuss the role of Kuomintang Party in Chiina’s nationalist peiitics,
> Sun Yat-sen founded a political party in Tokyo, which became the
Kuomintang Farty.
+ Sun Yat-sen, the inspirer of the organisation, wanted a republic
china.
«» After the death of Sun Yat-sen , the Kuomintang did not adopt
Communist policies.
« The Kuomintang represented the interests of the landlords and
capitalists.
8 Estimate the contribution of Sukarno to the independence of Indonesia.
+ Sukarno organised the Indonesian Nationalist Party.
¢+ This party in the country was supported by the westernised secular
middle class.
+ In 1931 Sukarno was imprisoned and the party he founded was
dissolved.
s With Japans support, he got indonesias independence by Eviction
the Dutch.
LESSON - 15
1. Warsaw Pact was a response of the Soviet Union to the US controlled
NATO-Explain.
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* When West Germany became a member of NATO, USSR decided to
make a counter arrangement.

s In May 1955, a “treaty of mutual friendship, co-operation and
mutual assistance” was signed by Soviet Union and its European
allies.

It was named as The Warsaw Pact, as the treaty was signed in
Warsaw, the capital of Poland.

« The treaty called upon member states to come to the defence of any
member if it was attacked by an outside force.

2. Write about the different stages in the final adoption of UN Charter.

+ At Dumbrton Oaks, representatives of China, the Soviet Union, the
United States and the United Kingdom met and formulated
proposals for a world organisation.

+ The Moscow declaration recognised the need for an international
organisation to replace the League of Nations.

+»+ Decisions on the voting system in security council and a few other
issues were raised in Yalta Conference.

+« After holding deliberations and negotiations at the San Francisco
Conference, the Charter of the United Nations was finalised.

3. Trace the background of the formation of NATO.

< Despite the friendship of the United States, Western European
countries ielt insecure

% Communist victory in Czechoslovakia added to their fears.

s The 'Western European countries weire now wiiiing to consider a
collective security solution.

+ In this context that the NATO organization was formed.

4. Give a brief account of Suez Canal Crisis.
+« In July 1956, the Egyptian president Gamal Abdel Nasser
nationalised the Suez Canal.
¢ Which was until then privately owned by the Anglo-French Suez
Canal Corporation.
+ So the Israeli, French and British forces invaded the Sinai Peninsula.
+ UN forces expelled Israeli, British and French troops in march 1957 .
5. Why SEATO was not so popular as NATO?

s SEATO is seen as an Asian-Pacific version of NATO.
¢ Interestingly only two south-east Asian countries, the Philippines and
Thailand, had taken up membership.
¢ The rest of the countries refused to be part of it.
» SEATO only for consultation.
% Leaving each individual nation to react individually to internal
threats.
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